WILT TIMBER SALE

Cottage Grove Ranger District Umpqua National Forest Lane County

Road 1746-000

B-1-SCHEDULE OF ITEMS

ITEM NO.	DESCRIPTION	PAY UNIT	EST. QTY.	UNIT PRICE	TOTAL PRICE
151-01	Mobilization	Lump Sum	1	\$7,113.09	\$7,113.09
203-01.1	Removal of metal culvert, (ditch relief)	*Each	5	\$184.13	\$920.65
203-01.2	Removal of metal culvert (stream crossing under 10' at centerline)	*Each	1	\$193.34	\$193.34
204-20	Drainage excavation, type grade sag	Each	1	\$130.99	\$130.99
209-59	Furnishing backfill material for culverts	Cubic Yard	35	\$28.17	\$985.95
251-01.1	Placed riprap, Class I	Cubic Yard	21	\$38.78	\$814.38
251-01.3	Placed riprap, Class III	Cubic Yard	25	\$39.06	\$976.50
251-10.1	Hand place riprap, Class I	Cubic Yard	6	\$184.03	\$1,104.18
602-63.18	18" aluminized steel, type 2, corrugated steel pipe, 0.064 inch thickness, Method B	*L.F.	234	\$22.73	\$5,318.82
602-63.36	36" aluminized steel, type 2, corrugated steel pipe, 0.064 inch thickness, Method B	*L.F.	42	\$36.62	\$1,538.04

Payment will be made on actual work performed as described in FP-03 109.01 unless otherwise noted.

Construction cost without mobilization=\$ 11,982.85

Construction cost with mobilization=\$ 19,095.94

C5.213 Engineering Services 15%=\$ 2,864.39

WILT TIMBER SALE

Cottage Grove Ranger District Umpqua National Forest Lane County

Road 1746-204

B-1-SCHEDULE OF ITEMS

ITEM NO.	DESCRIPTION	PAY UNIT	EST. QTY.	UNIT PRICE	TOTAL PRICE
203-01.1	Removal of metal culvert, (ditch relief)	*Each	1	\$184.13	\$184.13
209-59	Furnishing backfill material for culverts	Cubic Yard	5	\$28.17	\$140.85
251-01.3	Placed riprap, Class III	Cubic Yard	2	\$39.06	\$78.12
251-10.1	Hand placed riprap, Class I	Cubic Yard	1	\$184.03	\$184.03
602-63.18	18" aluminized steel, type 2, corrugated steel pipe, 0.064 inch thickness, Method B	*L.F.	32	\$22.73	\$727.36

Payment will be made on actual work performed as described in FP-03 109.01 unless otherwise noted.

Construction cost without mobilization=\$ 1,314.49

C5.213 Engineering Services 15%=\$ 197.17

WILT TIMBER SALE

Cottage Grove Ranger District Umpqua National Forest Lane County

Road 1746-529

B-1-SCHEDULE OF ITEMS

ITEM NO.	DESCRIPTION	PAY UNIT	EST. QTY.	UNIT PRICE	TOTAL PRICE
203-01.1	Removal of metal culvert, (ditch relief)	*Each	5	\$184.13	\$920.65
203-01.2	Removal of metal culvert (stream crossing under 10' at centerline)	*Each	2	\$193.34	\$386.68
203-01.3	Removal of metal culvert (stream crossing over 10' at centerline)	*Each	1	\$202.54	\$202.54
204-20	Drainage excavation, type grade sag	Each	1	\$130.99	\$130.99
209-59	Furnishing backfill material for culverts	Cubic Yard	45	\$28.17	\$1,267.65
251-01.1	Placed riprap, Class I	Cubic Yard	21	\$38.78	\$814.38
251-01.3	Placed riprap, Class III	Cubic Yard	30	\$39.06	\$1,171.80
251-10.1	Hand place riprap, Class I	Cubic Yard	8	\$184.03	\$1,472.24
602-63.18	18" aluminized steel, type 2, corrugated steel pipe, 0.064 inch thickness, Method B	*L.F.	250	\$22.73	\$5,682.50
602-63.24	24" aluminized steel, type 2, corrugated steel pipe, 0.064 inch thickness, Method B	*L.F.	124	\$26.92	\$3,338.08
602-63.36	36" aluminized steel, type 2, corrugated steel pipe, 0.064 inch thickness, Method B	*L.F.	61	\$36.62	\$2,233.82

Payment will be made on actual work performed as described in FP-03 109.01 unless otherwise noted.

Construction cost without mobilization=\$ 17,621.33

C5.213 Engineering Services 15%=\$ 2,643.20

WILT TIMBER SALE

Cottage Grove Ranger District Umpqua National Forest Lane County

Road 1746-763

B-1-SCHEDULE OF ITEMS

ITEM NO.	DESCRIPTION	PAY UNIT	EST. QTY.	UNIT PRICE	TOTAL PRICE
203-01.1	Removal of metal culvert, (ditch relief)	*Each	3	\$184.13	\$552.39
209-59	Furnishing backfill material for culverts	Cubic Yard	15	\$28.17	\$422.55
251-01.3	Placed riprap, Class III	Cubic Yard	6	\$39.06	\$234.36
251-10.1	Hand placed riprap, Class I	Cubic Yard	3	\$184.03	\$552.09
602-63.18	18" aluminized steel, type 2, corrugated steel pipe, 0.064 inch thickness, Method B	*L.F.	122	\$22.73	\$2,773.06

Payment will be made on actual work performed as described in FP-03 109.01 unless otherwise noted.

Construction cost without mobilization=\$\$4,534.45

C5.213 Engineering Services 15%=\$ 680.17

WILT TIMBER SALE

Cottage Grove Ranger District Umpqua National Forest Lane County

Road 1746-780

B-1-SCHEDULE OF ITEMS

ITEM NO.	DESCRIPTION	PAY UNIT	EST. QTY.	UNIT PRICE	TOTAL PRICE
203-01.1	Removal of metal culvert, (ditch relief)	*Each	1	\$184.13	\$184.13
209-59	Furnishing backfill material for culverts	Cubic Yard	5	\$28.17	\$140.85
251-01.3	Placed riprap, Class III	Cubic Yard	2	\$39.06	\$78.12
251-10.1	Hand placed riprap, Class I	Cubic Yard	1	\$184.03	\$184.03
602-63.24	24" aluminized steel, type 2, corrugated steel pipe, 0.064 inch thickness, Method B	*L.F.	42	\$26.92	\$1,130.64

Payment will be made on actual work performed as described in FP-03 109.01 unless otherwise noted.

Construction cost without mobilization=\$ 1,717.77

C5.213 Engineering Services 15%=\$ 257.67

WILT TIMBER SALE

Cottage Grove Ranger District Umpqua National Forest Lane County

Road 1746-841

B-1-SCHEDULE OF ITEMS

ITEM NO.	DESCRIPTION	PAY UNIT	EST. QTY.	UNIT PRICE	TOTAL PRICE
203-01.1	Removal of metal culvert, (ditch relief)	*Each	1	\$184.13	\$184.13
209-59	Furnishing backfill material for culverts	Cubic Yard	5	\$28.17	\$140.85
251-01.3	Placed riprap, Class III	Cubic Yard	2	\$39.06	\$78.12
251-10.1	Hand placed riprap, Class I	Cubic Yard	1	\$184.03	\$184.03
602-63.18	18" aluminized steel, type 2, corrugated steel pipe, 0.064 inch thickness, Method B	*L.F.	41	\$22.73	\$931.93

Payment will be made on actual work performed as described in FP-03 109.01 unless otherwise noted.

Construction cost without mobilization=\$ 1,519.06

C5.213 Engineering Services 15%=\$ 227.86